Warm-Up

Use the substitution method to solve the following system
of equations:
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Questions From Homework
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Solving Word Problems




Applications

Step 1: Read the problem (multiple times!)
Step 2: Define the two variables in the problem

Step 3: Set up the equations from the problem
(# equations = # unknowns)

Step 4: Solve the system of equations

Step 5: State your conclusion



A landscaping company placed two orders with a nursery. The first
order was for 13 shrubs 4 trees and totaled $487. The second order
was for 6 shrubs and 2 trees and it totaled $232. Determine the cost
of each.
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The admission to the fair is $2 for children and $4 for adults. On
Saturday one thousand people attended and $2800 was collected.
How many children and how many adults attended the fair?
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5
A pizza costs@ more than a donair. If two pizzas and three donairs
cost $40, find the cost of each item.
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A total of $12,000 is invested in two funds paying 9% and 11% simple
interest. If the yearly interest is $1,180, how much of the $12,000 is
invested at each rate?
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Homework



Ehemnation |

4x+85= ©
X'3= '6

o e
% ) 5

w-u=-b  (-1,9)
-y

e-b
)

Substeion .
4du= ©
SER
Uiadnv=6
Y= 3—6

Hi+dy=0 X~ y-6
4y-9+9y=6 | x=5-6

4y Hdy=6 | o]

Comnparisan .
""x+33= @

58«“ +b

asg-l-\g-»b y="Ixsd

X-y= -6 §=-x-6  y-x+b

-3**3=><*6j y=x*6  (-1,5)

By =

g.(—l)-\-é

10



® Two c\'\.\l en have a -‘-o’taLf 119 mocbles.
Tha 3«\ has (4 byees as many os Hhe b{'j

How many marblee dots each chld howe.

Let b= bous vorbles
e Q= QF 's voolble

bo =I5 b+ =I5 q=4b
g-.-% Fo =115 3 43

® R 'lu\'q\. ot "‘\,‘300 s \avested 10 dwo

funds oyl 1l and WA simple tecest .
IF the . ﬂ?j intecest i ‘?A‘S’ how much
oF A ? 50 s nwested ot eadn soke ©

Let x= mvedment @7°%4 @)
Ler y= @\’ (ﬁ)

X4y = 9500
0.0‘1x+0.|15=%
0 +00N A X4y =9500
Otx+00lyw=
D) Q.O-lx'\-O‘\\%: WS X+ (Y WO

%= 5000

-0y =-I1R0
i"!"‘ Iggﬁ&

11



12



	Page 1: 1
	Page 2: Feb 4-8:30 AM
	Page 3: 3
	Page 4: 4
	Page 5: 5
	Page 6: 6
	Page 7: 7
	Page 8: 8
	Page 9: 9
	Page 10: Sep 13-8:33 AM
	Page 11: Sep 13-8:54 AM
	Page 12: Sep 13-9:28 AM

